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Label each diagram of a stage of mitosis in an animal cell with the proper number 
and name.

Label each diagram of mitosis in a plant cell with the proper number and name.

 1. Glycolysis produces a net gain of ________ ATP molecules per molecule of glucose 
by an anaerobic reaction.

 2. Aerobic respiration produces a net gain of ________ ATP molecules per molecule of 
glucose.

 3. ______________ respiration is a more efficient producer of energy than anaerobic 
respiration.

 4. The energy contained in a molecule of glucose is changed to a more usable form 
by combining a ________________ atom with ________ to form ATP.

 5. When ATP is broken down to ________ and _______________ , energy  is ______________.

   6. During glycolysis, glucose is first split into two molecules of ________. This requires the 
energy released from two molecules of ATP being converted to two molecules 
of ________.

 7. The ________ is then converted to __________________ , producing four ________ 
molecules and two ________ molecules, which are part of the electron transport 
chain.

 8. The ________ transport chain, which supplies the energy needed for the formation of 
ATP, requires the formation of ________ from NAD+, and ________ from FAD.

 9. The hydrogen necessary in this chain comes from the breaking apart of ________ 
molecules.

 10. The oxygen released is used to form ________.
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